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efficiency vs AR

08 I
0.6
0.5 -+
0.4f -4
0.3F--1
0.2 1+

0.1
o Of
IS 1.5 —
@ DM

|_pixelCPETemplateCutChiSquarel5
pixel CPETemplateCutChiSquare

T IIHIIE!Iii'[I
PR (0 1111 |.!l|!!l
1078 1072

e
1
—=— DQM _original_step ar-phasel-newgeom
_| —— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
———
—

_step2_ttbar-
5_step2_ftbar-p

ﬁhasel-newgeom
asel-newgeom_test

il

1
TP min AR

-1

[ Efficiency vs dr (track,jet) |

EO.OS
.045
£
%0.04
9.035
>
20.03
Q
i15=6.025
3]
0.02
0.015
0.0
0.005

[y

1072 107
AR(TP, jet)

0.2

...............................................

.....................

%8630 40 50 60 70 80




	Contents
	Page 1


